Mesh Analysis

1. Mesh analysis: another method for
analyzing circuits, applicable to planar
circuits.

2. A Mesh is a loop which does not
contain any other loops within it.

3. Nodal analysis applies KCL to find
voltages in a given circuit, while Mesh
Analysis applies KVL to calculate unknown

currents.

78

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



Mesh Analysis

A circuit is planar if it can be drawn on a plane with no branches crossing one
another. Otherwise it is non planar.

The circuit in () is planar, because the same circuit that is redrawn(b) has no
crossing branches

1 A

8 €2 7 €2

(a)
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(b)
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Mesh Analysis

A non planar circuit.
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= Use the method Y ou Like beat
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